° o

*ﬂ Age 10+

. )

Im 50 kg | 110 Ibs

E" 138 cm - 166 cm
T 55 inch - 66 inch

ANNNNN

LEVEL

2

6h







infento® v2.0

S0t Mex2s

=
=
o
o0
o)
S
o

Bolt M8x25




RN

W O

! A
A : .. ) .; r
'4 FoUE y
. /)
i

I\ ‘?..( (

infento® vz2.o



infento® v:z.o

Square nut M6

LockBolt M6x50

£
il g
- Y -
Va / ” -
] S ———
i = Jl...“ll
oy —
\.,v&v..r...\u v S



ﬁ Bolt_ M8x35
Bolt_M8x30 _

b XN 0 AN .
‘“, ' h ! /&ﬁ‘g‘\; \! . ‘

/X | mfuéﬁf

wA



infento® v:z.o

e




. R

Bolt M8x25
>
A
infento® v2.o

£
£
S
S
N
<@
5
=
o







Locknut M8

Bolt M8&8x25



Bolt M8x65

infento® v2.o



Axle 550mm

infento® v2o ©




" infento® vz2o °

o
T}
>
%)
=
2t
o)
om
~
O
o
|

LockBolt M8x50




Y N

B o x "
D B ) infento® v:z.0



infento® v2.o

=
E
S
N
o)
x
L
o
o

Bolt M8x25




Al 3 Sa . <
i B0 A RN vAL '_.
WA \
0 '.._" - t{t ‘a ‘[“\ L\

) , . AW\ [ ,- _ infento® vz.o



w

infento® va2.o A

X "%_‘

57 mm

J

Bolt M8x20



infento® v2.o

Bolt M8x25

=
£
=
4
N
D
=
o
-
o

Bolt M8x25




© Square nut M6

\

LockBolt M6x50




Bolt_M8x60

infento® v2.o



infento® v2.o

ik




infento® v:z.o




infento® v2.o0 ©

Bolt_M8x30

7

0
=
B
>
=
<
%}
o
=




. ©
~N
>

‘0
=]
g
Y
£




Bolt_M8x25

Profile_200mm

infento® v2o ©



infento® v2.o

e
-
o
o
3_
©
H—
2
o

Bolt_M8x25




Bolt M8x40

" infento® v2o




‘ Square nut M6

LockBolt_M6x50

s . ) N\ Y \ Ty
0 l’k ﬁi}*‘\i l‘ .é 6’ »5 r.:. .L” N 1
‘ Vi

, “j < n"’

J

" infento® v2o



Axle_125mm

Bolt_M8x12 Countersunk

" infento® v2o



=
N
>
B
, O
-
g
Y=
£




infento® v2.o

®

N
=
s
o
[}
g
=
=
=]
(®)
2
<
o0
=
e
]
an}




\‘ %Bolt_maxm

Spacer 5mm X

0 Spacer 20mm

Spacer 2mm



A
()]
£
[®]
O
4
Tg]
x
<o]
=
)
o

infento® v2o ©







Bolt_M8x25

I

"f"\" B h .

'.I “\ .: 3
]‘ \ 4 8 ¥
% 'ﬁ ) ! ;

B ) mfento V2.0



Locknut M8

L
Bolt M8x30




Bolt_M8x30

Locknut M8



H Bolt_M8x12 Countersunk

B \ WOl O

4 %

s I- 4 S

1) mfento V2.0



Throttle / brake cable

|

A % y, b : X\ i ':"._.‘.j. i R
. Y ."":: ‘ ..' . e | fq‘. pa
- i by ch' :
ol A Y i

|r‘ |. A I --» : ‘,!{‘M l 3 f;(" 1 )
) ¢ \ . \'~.J.. ', Lo J_!i ) . 1\ T
WAL X R MO

nfento V2.0



v \Y{f \! 3\

1) infento® v2.o




! ) infento® v2.o




Motor cable



N

% t : _'I : '.‘v"'\;\._ : \\%ﬂ
b R °\ A VAR Y i\ &
¥ f L M L \ \ :\\‘. ¢ f | !
! y v/ ."
i Py ¥ |
4|| Y ;
A Ay ' ‘j
oF ) | J

4 { i \ |
AN AN ‘?' { j’ ; '"! f, S |
{ . L’ﬂ/i \u \ / J, N 4 mfento V2.0

o I" %
"ij xé LR\ ‘f'."‘ ‘? “'i'

Sl . E"f L Mw_'!’







fento® va.o




Brake cable 100 cm




o

~N

>
‘0
-

g
Y=
£







N
o
~N
>
‘o
=]
g
Y
£




X/ l,f TR G BGH R RES

¥ a1 o | n | ! 4 1] - . ra 'Y 3 A | § i | Ly 1 [ TAY | Iys { 1 % . © s
JEUL\RY S BR° R A" q.'*é* A LA AL WL (S EN /f i \.'\.'n..;..". . | R ¥ (L2021 A "M L W infento® vzo SN



L. |nfento V2.0 aff






